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.

13 lim
x⁄2 

. 답⃞ 5
x¤ +x-6

x¤ -3x+2

대표예제

;0); 꼴의극한

. 

. 

꼴의극한

. 

¶-¶ 꼴의극한

. 

. 

¶_0 꼴의극한 ¶_c, , ;0);, 

. ( , c )

¶

¶

c
¶

¶

¶

( )

( )

✔

✔

;0);, ¶_0 0 0 0

. 

lim
x⁄¶

{ f(x) }>{ g(x) }

lim
x⁄¶

=¶ lim
x⁄¶

=-¶

{ f(x) }={ g(x) }

lim
x⁄¶

=

{ f(x) }<{ g(x) }

lim
x⁄¶

=0
f(x)

g(x)

{ f(x) }

{ g(x) }

f(x)

g(x)

f(x)

g(x)

f(x)

g(x)

f(x)

g(x)

{ f(x)}

{ g(x)}

¶

¶

α개념 +

lim
x⁄2

=lim
x⁄2

=lim
x⁄2 

=5
x+3

x-1

(x-2)(x+3)

(x-2)(x-1)

x¤ +x-6

x¤ -3x+2

x=-t x`⁄-¶ t`⁄¶

("çx¤ +3x-"ççx¤ -2x)= ("çt¤ -3t-"çt¤ +2t)

=

= = =-;2%;
-511111111

æ≠1-;t#;+æ≠1+;t@;

lim
t⁄¶

-5t11111111
"çt¤ -3t+"çt¤ +2t

lim
t⁄¶

("çt¤ -3t-"çt¤ +2t)("çt¤ -3t+"çt¤ +2t)111111111111111113
"çt¤ -3t+"çt¤ +2t

lim
t⁄¶

lim
t⁄¶

lim
x⁄-¶

=a (a 0

x‹

= = =;2!;
2+0_a11113
4+0_a

f(x)
2-;[#;_113

x¤
f(x)

4+;[@;_113
x¤

lim
x⁄¶

2x‹ -3f(x)111112
4x‹ +2f(x)

lim
x⁄¶

f(x)

x¤
lim
x⁄¶

-x=t x⁄-¶ t ⁄¶

lim
x⁄-¶

=lim
t⁄¶

=lim
t⁄¶`

=lim
t⁄¶

=lim
t⁄¶`

=-2

3
æ≠1-;t!;+1+1

t¤

-1+;t#;

"√t¤ -t+3+t

-t+3

"√t¤ -t+3+t

("√t¤ -t+3-t)("√t¤ -t+3+t)

1

"√t¤ -t+3-t

1

"√x¤ +x+3+x
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18 f(x)

<x¤ f(x)<

lim
x ⁄¶ 

(5xfi +2)f(x)

답⃞ 5

1

x‹ +2

1

x‹ +10

19 x f(x)

2x¤ -1…(x¤ +1)f(x)…2x¤ +3

, lim
x⁄¶

f(x)

1 2 3

4 5

20 0<x<3 x f(x)

x¤ -2x-3<(x¤ -9)f(x)<2x¤ -8x+6

, lim
x⁄3-

f(x)

;6!; ;3!; ;2!;

;3@; ;6%;

함수의극한의대소관계개념5

f(x)<g(x) a…b

f(x)<h(x)<g(x) a=b lim
x ⁄a

h(x)=a

α개념 +

꿀같은
Tip

17 f(x) x

5x+2…xf(x)<

lim
x ⁄¶`

f(x) 답⃞ 5

5x¤ +4x+3

x

대표예제

f(x), g(x)

lim
x⁄a

f(x)=a, lim
x ⁄a

g(x)=b (a, b ) ,

a x

f(x)…g(x) a…b . 

h(x) f(x)…h(x)…g(x)

a=b lim
x⁄a

h(x)=a . 

✔

✔

x>0

…f(x)<

= =5

f(x)=5lim
x⁄¶

5x¤ +4x+31111113
x¤

lim
x⁄¶

5x+21113
x

lim
x⁄¶

5x¤ +4x+31111113
x¤

5x+21113
x

0<x<3 x x¤ -9<0

<f(x)<

lim
x⁄3-

=lim
x⁄3-

=;3@;

lim
x⁄3-

=lim
x⁄3-

=;3@;

lim
x⁄3-

f(x)=;3@;

(x-3)(x+1)

(x-3)(x+3)

x¤ -2x-3

x¤ -9

2(x-3)(x-1)

(x-3)(x+3)

2x¤ -8x+6

x¤ -9

x¤ -2x-3

x¤ -9

2x¤ -8x+6

x¤ -9

x x¤ +1>0

…f(x)…

lim
x⁄¶

=lim
x⁄¶

=2

lim
x⁄¶

f(x)=2

2x¤ +3

x¤ +1

2x¤ -1

x¤ +1

2x¤ +3

x¤ +1

2x¤ -1

x¤ +1

x>0 x x¤ >0

<f(x)<

5xfi +2>0 <(5xfi +2)f(x)<

=5 =5

(5xfi +2)f(x)=5lim
x⁄¶

5xfi +211113
x¤ (x‹ +2)

lim
x⁄¶

5xfi +2111113
x¤ (x‹ +10)

lim
x⁄¶

5xfi +2111132
x¤ (x‹ +2)

5xfi +2111113
x¤ (x‹ +10)

111113
x¤ (x‹ +2)

111111
x¤ (x‹ +10)
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